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Foundation Tier

Question Key
A aluminium 3
B copper 2
One
C iron 4
D sodium 1
A 0 2
B 6 3
Two
W c 12 4
D -90 1
A the nucleus 2
B a bond 4
Three
C an electron 3
D an element 1
A bronze for ‘copper’ coins 1
B bronze for statues 4
Four . - .
C cupronickel for ‘silver’ coins 2
D brass for ornaments 3
A carbon dioxide 2
B
Five copper: 3
C copper oxide 1
D water 4
A B C D
Six 3 2 4 4
Seven 3 2 1 1
Eight 2 1 4 2
Nine 3 4 2 3
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Objective Test Answer Key
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Question Key
A carbon dioxide 2
B copper 3
One PP .

C copper oxide 1

D water 4

A it is probably the softest substance 1

Two B it is the alloy that contains only two metals 2

C it is an alloy that contains only one metal 3

D it contains the largest number of different elements 4
A B C D
Three 2 1 4 2
Four 3 4 2 3
Five 2 2 3 3
Six 3 2 2 3
Seven 1 3 2 3
Eight 2 2 4 3
Nine 2 3 2 3
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- - HIGHER TIER .

> Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<

Questions ONE to NINE Choose one response 1 - 4 for each of the parts A - D

¢ ‘QUESTION ONE 1 2 3 4
1A carbon dioxide OO0 - .

1B copper
1C  copper oxide |
j' D water o o "
( " QUESTION TWO 1 2 3 4)
2A it is probably the softest substance OBESOERO RO &
2B it is the alloy that contains only two metals o 2
2C it is an alloy that contains only one metal » e
2D it contains the largest number of different elements @ O ¢
QUESTION THREE ) " QUESTION FOUR ) " QUESTION FIVE
1 2 3 4 1 2 3 4 1 2 3 4
3A o) O O O 4A O O O 5A O ;
3B 0 O @) O 4B O 0 O O 5B
3c O O @) O | 4C O 5C
. 3D _3_ O C-_ - 764 ) \ 4D O O ) 7‘::.- )
~  QUESTION SIX " QUESTION SEVEN | " QUESTION EIGHT
1 2 3 4 1 2 3 4 ‘ 1 2 3 4
6A O O O o) 7A o O O O 8A O
6B o) 0 o) o 7B © O O o 8B
6C O 0 O o) 576 O O O O 8C

1 2 3 4|

9A (@] O o
9B O o) 0 o
9C O O C o
‘\QD O O ) 0 )
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FOUNDATION TIER

> Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<

Questions ONE to NINE Choose one response 1 - 4 for each of the parts A -D

QUESTION ONE 1. 2 3 4
1A aluminium OEEOSSORED
1B copper ® D @
1C iron
1D sodium o o |
' QUESTION TWO i 2 3 3%
2A O O
2B 6 o) 0
2c 12 Yo &
2D -90 5 > |8
: QUESTION THREE 1 2 3 4
3a the nucleus Oy
3B @ bond 0O
3¢ an electron o
| 3D an element ole <
‘ QUESTION FOUR 1 2 3 &)
44 bronze for 'copper’ coins @ @ e
4B bronze for statues o O @
' 4c cupronickel for 'silver coins 8
4D brass for ornaments O o |
- QUESTION FIVE {1 2 3 4)
5A carbon dioxide
5B copper "
' 5C copper oxide 5
5D water
QUESTION SIX ) ” QUESTION SEVEN QUESTION EIGHT
1 2 3 4 1 2 3 4 1 2 3 4
6A O 7A O ® O 8A 5 O O
6B ) ) 7B o) o) 8B o ©
SE ’ 7C ) ' 8C C
. 6D 3 .,TD O 8_[) B g O c
~ QUESTION NINE
1 2 3 4
9A O O
9B o ‘
| 9C
I‘\.kQD & - ) |
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